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Introduction to 4>pann P99 and #1 XIND

RPN P99 is the third P in Ny>sn x33. [t discusses the ooy that apply to a 9131,
a watchman, of a 1799, an item given over to him to be watched, by its Sy3, its owner.
There are 4 different types of o> v that the n91n discusses in ©*VaWN NYWHI.
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The first »nwna7 discusses the maon of a oan 931, a “free” watchman. A 00 W iS
someone who does a favor for someone and agrees to watch his item for him. Although a
o)n I is doing a favor, he is not allowed to use the item he is watching.
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The second »nwnar discusses the mabn of a 99w 31V, a “paid” watchman. A 99w
75V, is someone who is hired (receives benefit) to watch an item for someone else. The v
75w is paid only to watch the item, he is not allowed to use it.
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The third »nwH97 discusses the mobn of a bniw, a “borrower”. A HNIw IS SOMeone
who receives permission to use someone else’s item for free. In the final 710 the NN
mentions the 4™ type of “mw, which is a 929, a “renter”. A 79w pays to use the item.

I A an v s v v s amw s sxw are all different types of “watchmen”. I
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Some mayn of the 9w 74 are similar to one another and some are
different:

All four o> are required to properly watch and care for the item they were given. If
any of them are yw)9, negligent, in watching the )19, they are going to be a»n to pay for
any damage that happens to it. Similarly, if the 9mw uses the item when he wasn’t allowed
to (this is called being 72 na n%yw - it is similar to stealing it), the /v is going to be 2»n.

Each of the omw 7 automatically accept different levels of responsibility on the
N109. Therefore, their @2y n differ in the following cases:

« o - if an unforeseeable accident happens to the yy 9.
s nany N - if the prprais lost or stolen.

Since a tan 9V is doing the Yya a favor, he is 99 on everything (01N, Ta8) N223)),
so long as he was not yvs.

Since a Yxyw borrows the item without giving anything in return (\ow nxan 9), he is a»n
on everything, even yonx. (He is 71wa for »naoxon nonn npne or if it was 7y voya).
Since a 99v 91w was hired to watch the y7»>9 he is a%»n on n472any Na% but he is Mvs
0N PONN.

Since a 99w pays to use the item there is a oxm niziynn if he is like a oan 9w or like
a99v . The As5mis that a 1»mvis like a 1y .
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1. When something happens to a yv1>s the 9w must make a claim as to what happened to
it. If the 9w makes a claims that makes him qyva from paying (for example if it was
stolen from a oyn 9mw) he is 8H9INM 2990 to make a Nyaw, to swear, about what
happened. This is called oymwh nyay.

o The 9w includes in this nyaw that:
1. He was not yws, negligent with it.
2. He was not 4 na nyw, he didn’t use the 9.

3. ¥mwAa 9y, that the y 19 is no longer in his possession.

. The reason the 7w makes a nyyaw is to make sure he is saying the truth. People were
very afraid to swear falsely. To make a nyyvaw one would hold a n7n and swear in the

name of 7 about their claim. Not swearing falsely is the 3 of the ny7a71h nwy ( Xivn NS

N2 TpoN T oY nN). In addition, the x7n) discusses terrible punishments that come as a

result of making a 2w ny»@av, swearing falsely.

. If the " is obligated to swear but does not want to he is 2»n to pay. This is known as:

7aovn - ¥avsry D133 99INRY PN - “because he won’t swear he must pay”

3%)) 29
When someone steals an item he is 2»n to return the item he stole or its value. An item’s
value is called y9p.

o If o>1y, witnesses, testify that he stole it and he is caught, the 23 is
to pay Y99, double.
o Ifthe 23 stole a 99w, an ox, and he is 991 i~ nav, he slaughters

(“Shects”) or sells it, he is 2»n to pay ’f, 5 times the value of the 7w,
o If the 23y stole a N, a sheep, and he is 721 I N2v, he slaughters £ ,;g
(“’Shects”) or sells it, he is 2>n to pay 74, 4 times the value of the nw. { ?\‘
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o (If the 23 steals a 1w or nw but is not 721 X Nav, he is not 2»n to pay 'n N 7.
However (if he is caught through o>1y), he may be 2»n to pay Y95.)
> The payments of 595 and ’n1 77 are a ©3, a penalty. The rule is that if one is 749, he

admits that he is 2»n to pay a ©p, he is 1w from paying it.

V¥
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Quick Review/Introduction to X9):

N99) IS based on mawn. mwn are mabn taught to us by osxym. Each Nap learnt these
mavn from his »a4, and his »aq from his »a4, going all the way back to 1224 fnwn! When 1
gave nwn the written N9, ansaw 79N, 74 also taught to nAwmn the mavn which were taught
N9 Yya.

N9 is primarily an explanation of the smabn in the nawn. 891 also answers any
nyy ;e/contradictions, or W on the nywn. The 89y is divided into different topics, each
topic is called a x2o. N9 is the written discussions of the ox9max that analyzed the
mwn. These ornan spent their entire lives learning, clarifying, and explaining the ma%n of
the s awn. The “back and forth discussions between ox9max is called the 29y NYR VY.

Nearly every o begins with a x919. A X999 IS a Statement or navn that the x4
quotes. A X919 can be a statement quoted from a Xan or an 89N, Many times the x93 will
quote a X9 mentioned in the previous nywn before starting to analyze it.

Our first 8o»o begins by asking a nbxw on a y>4 of our Mywmn. The nNawn says: ¥pann”
195 IN 1NN 19%aN YN, - “if one gives to his friend to watch, animals or vessels”. A noNW IS
different than a Nowp. A noNW is a question that is seeking information. A X>w#p is a question
that something doesn’t make sense. Recognizing the difference between a XYwp and nHxvy
helps us understand what the &9 is trying to do.

5| ma1pn [ Introduction
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The first nywn begins by discussing the m555 that apply when a p7p»9 is stolen from a amw
03n. Remember, a 0in 99V is anyways 9909 for paying A9°ax) nas».

On ALL sheets. When L0005 N NNNA AN DR TIPONN
thereisa *’ write the NNy N9 ,ﬂb’\') HJTANYIN 12300
actual words of the o, SN YAV DIN 9DV 1IN Y9NV YAy
When there is a *+ , write 9913) HAL 999 MYUN BYUA 233N NI
the 891)’s words AND 109 3% 1315 5w
their translation. 1abwn MY .AuNn YA MIYYN abun
(At times it will not be indicated.) ,O5U5 N89 XYY YawI D9SN VTPanY mb
49139 NAY Y95 MMPYUN BDYN 2N NYN)

avwun b ,AYnNn NYaIN MdYN thun
Jpan byay

. (The nmawn begins by setting up the case): * 7, the one who gives over to

by his , N4, an or* , vessels, as a y17p>a to be watched. Then,

13233, the y1P*9 was or* N, it got lost. Since a o»n mwis 7ws from paying

for 72200 0r /77725, he has two options which the x> and x92o will discuss.
. (The y4 of the xw»): yawsry Ny 89 obsv, if the Amv chooses to and not swear; *9nv

YN, since we said that a ) v can be * , he can

swear, and is X8y, he is 9. Therefore, if he choses to pay, Nsm)

ann, IF the IS , the thief pays Y95,

,orifitisa m,wor 7w and the thief v

4919, he shected or it and he must pay 4 or 5

times of its value.
. (The nawn asks - rhetorically): 7a5wn b7 | to whom does
the 23 pay?
. (The nywn answers): 798N N1panw »mY” | to the one whom the * is by him.

Meaning, the 25 must now pay to the . Since the osn 91w chose to pay for the p720

6 | nwn
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even though he could have been 909 through swearing, it is considered as if he has acquired the
n 7220 from the owner. Since the 7229 belongs to him, the 92w receives the 595 or payments of
/17 (MmoVn 95 NP DOWT \PIT - 37YH).

. (The y4 of the xX92v): YWY N¥Y N9 yaw), if the v chooses to swear about what
happened and he doesn’t want to pay. Then, 2nn ), if the thief is found, @5wn, he pays

the 5 or the ' __ tothe o 1, the [original] owner of the item.

7| mwn
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Step 1: "ONVY a
The n49%) begins by analyzing the first y>4 of our nawn.
(A nonw is a question that asks for information.)

10595 2NNy 99 DY NN NNNY DY DnY
1. (The n91 asks): 7Y nnY, why was it necessary for the nywn, »nnby, to [about a 9w

paying or swearing for a y279] using both an example of a * and of o55?
Why couldn 't the 2w simply have taught this 7557 with one of these examples and | would learn

one from the other?

Step 2: yvn @

YaN  NPIANDY NTIYY NNV WINIT DIV XTI DD 23PNT NID N1NNA NN 1IN ,D1NNA NIN INT 2998
N9 , 1199 23PN NY NIIN 1NN W0 NIT , D95

2. (The x99 answers): »2%48, both examples of the nywn are . We cannot possibly

learn out one from the other.

(The x93y explains): xan sx4, if we only taught * , NN MA, | would have

that the owner is only willingto be ____ n, give over his ‘rights’ to the Y25 (when the “mw pays
instead of swearing) by a nnna since ya»nav s there is a lot of bother A5y, to bring the
pnaup, * Y and to take the animal out.

Therefore, if the 90w pays the p97 upfront instead of swearing and being 719, the 5yais mpm,
he gives over to the 9mwany extra payments that may come.

. @99 Yax, however, in regards to when the amw pays for * NYY _ NYtthat
there is no great for the vmw to be busy with. nmox, Twould | "9 %pn Ny
N9*95, that the o>dyais not willingto be * 1 the Y95 to the v,

. Therefore, x9%4y, it is necessary for the nywn to say the word , to teach us that even

when the amw pays for 055 he is nnp (he acquires) the *

8| #1 200 M)
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9919 NV 297, DPNA YaAN INT9 YW NIT DIVN N9 1Y 2PNPT NID 899 ,NININ DD 099 NI IN)
NN ,NDIOD 119D 3P NY NIIN /D) 77 IDHVWH DHVYN

5. 95 Nan N, and had the nywn only taught the case of * , and not the case of
~ M9, | would have said that only in regards to o> is the owner willing to be nypn,
over the (rights to) b9, 9995 w9y XY+, because the extra payments will not be that
much.

. "mna bax, however in regards to a * , 70 71 Mo un aown 991 Nav »a4, that if the 2
shected or (aw or nv), it may end up that he will needtopay _ or _ timesits
value, X295 199 %91 8y 89N, | would say that the osdya is not willing to be * n the Y95 to
the amv.

. Therefore, a9y, it is , for the nywn to teach us both examples of nnna & o*v>. Had

the mwn said only one, 1 would NOT be able to learn out one from the other.

Quick Review of #1 x»o: Our x93 began with a ndxw on our mwn: Why does the
mwn give 2 examples, nnna and o>y (to teach that a /v who pays instead of swearing
acquires the 595 from the bya)? The xn) answers that, X5y, it is necessary to teach
both examples of nnna and o>»5 because had we only said one of them, | would not be
able to apply this y from one to the other.

9| #1 200 M)
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n1n1P0 to #2 None. What vou need to know:

To acquire ownership of any item one must make a 235 on it. Just paying for something
doesn’t make it “yours” yet. The most common way of making a y)p is by doing nnaxn on it,
by picking it up (like when they pick up the n7n). Until the item is picked up, it has not
changed ownership. On large items, one can do n39%¥n, pull or move the item, to aquire
ownership on it.

For example, if | want to buy a slice of Pizza, | may order and pay for
it, but I don’t own the slice until I actually pick it up. So, if | order a slice of
pizza and it falls before | pick it up, the store must provide me with a new one. Since |
hadn’t made a y23p on it, it was not yet considered to be mine. However, if | pick up the slice,
even if | didn’t actually pay for it (with the owner’s permission), it is considered as if | own it
since picking it up is a y*p. If the slice falls, I must still pay for it, and I’'m not entitled to
another.

In the first x%»v0 we saw that when the amw pays for the pop2a its as if he buys the 129
and all extra mop (penalties) from the o*oya. The next xomo will discuss how it is legally
possible to be nypm the a5 if there is no actual y237 taking place.

#2 NOIO

This x990 discusses how it’s possible for the Sya to be napn the Yas to the amw, after the 4w
pays for it.

Step 1: nowp

N2 XYY 9247 NIPN DIN7 99NT 15799 17°9N) 10YY XA NIY 937 NIPN DTN PR XY ,NNN 93 199 1Y PN
91999 999 NPT 9917 8NN ONI ,NAINMAT 99399 999 NID JAN INNT YT HPT M 1 17D ENYY
19091 1 NNYT ,09YNT 91922 21,233 NINYN INI ,23) NINYNT

1. (MmN 934 asks a question on our mawn): [How is it possible for the bya to be nypn the Y95 to the
VY], ©9I¥Y X2 XYW 927 13PN DTN PPN N, a person cannot be 1, give over to be acquired,
something that didn’t come into existence yet? Therefore, how is it possible to be nypn the

if this extra payment doesn’t even exist?

10| #2 200 )
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2. (NN 9324 continues his question): 17799 99%aN, even according to
who argues and holds that a person CAN be N a NINYWY T
9, 9 %0, these words are only regarding items that already began

to exist such as Yp1 m~9, fruits of a tree, ynne »72ay4, that will surely

continue to come into existence. Since the buyer (the n»p) is secure that the fruits will come, the

P is valid.

. However, 8an, | regarding the paymentsof | Nannv », who says that it
was going to be ? Y ssnn oN, and even if you’ll _ that the item would get stolen,
», Who says 23 4 that the would be found? And, even if nanwn
*__,thethief would be , who says that he would end up paying 595? Maybe he
would be n4m, , that he had stolen the \y12s before 772 is 2»nn him and he would end

up being mvs from paying *

. (The nowp): Because there are so many different possibilities that would cause the 525 to not be
paid, even 98 79 would agree that it is something that is »pay Y, it will probably never

come into existence, and therefore the Sya cannot be n the Y95 to the v ?

Step 2: #1 Yo
LWOYN 19 NP NI 390 SINYWM NI ,2NWIY” 1Y INMIND AW N2Y NN

5. (xa249 answers NN 93 91949°s Nowp): The dya is n the Y95 to the Amw because, 9189 NWY)
1Y, it’s as if the Yya said to the v at the time that he gave him the 19 (Non NyY): “ 2nnwab,
if the s will be stolen, »mmbwm nyam, and you will want to me and not make a
v. Then, 99 n91p »n99 290, my 1s going to be “acquired to you™ ywayn,

[retroactively] from at the non nyw.”

. Since the m19 will “retroactively” belong to the 9mw from the moment the he makes a yyp on it, it

comes out that when the 23» pays for it, the 7> and all extra payments already belong to him!

- w9, explains that the 5y3 always agrees to do this because he prefers to get back his 97
rather than have only a chance to get the %92.

11| #2 200 )
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Step 3: novp

17095199 HIMTIMD XINY NN HNIN 13193 HIMTDN HINMTII AN 99D IN NI /9 AY P

7. (N99% 79 asks a 8w on 829’s Y920): According to NaM, the Yya and the arranged, that if
the oo is and the v agrees to pay the yvp, then the 19 (the 7nn97) retroactively
belongs entirely to the vmw, from the moment he was mapit.»ansx, then__ N,
even, the my, the , and the * , the children, that were produced from the
moment the qmw was nnp it, ), they should also belong to him?

. This can’t be, because N nnvN, why did we teach in a 3, that a 7mw who pays for the

gets the Y95 but he does not get the * and the * ?

Step 4: #2 0
N1 74 gives a 2" yyvom for 8nn 92 919’s 8w by modifying xa4°s original Y)om.

2T DI NIN I IMIND DWYI NIT 79 9N NIN

10. (N9t 79 modifies x29’s ¥19°1): NYN, rather, 1 p) ), it’s as if the bya said to the

in their agreement, that if the 9w pays the y__p, he will only receive the a5 but not the

P ).

12| #2 2000 )
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Step 5: nhHny

INDD INIY

11. (The x4 asks a nYNWY 0N XY 79°s )19PN): NpO9 s, how is it determined - that the Sya only

agrees to be nypn the * to the amv, but not the the vy and myT5?

Step 6: v'n
DIDNT WINN 9aY NY NOIIMAT NNAVY 2IPNT WIIN 192y NNYYN NOANT NNAY NNYHNT NHND

12. (The x99 answers the noxw on 8921 79): XNYNT NNV, the matter is “obvious™: 4 NPNaV,
NI, , that comes from outside (literally “the world”, meaning, the owner doesn’t
really expect to get it), 2T wI»N v, a person (the owner) is willing to give over. However,

4 v, profit that comes from within (literally, “the body of the animal ”, meaning,

profit that the owner always expects to receive) s pn4 NY, a person is not willing
to give away.

Step 7: #3 Y0

The N9 provides a third answer to xmn 93 »4’°s question on our Mywn by explaining
Na249’s original ¥v» differently (see Step 2).
Note: When the x91)says *9ux7 ¥92N, there are those that say, the x9nsis providing a
different version to something taught previously.

9 0990, 0N29305 TIND L 03NYWM D89N A0NWIY” 15 90IND HWYI Na 9N SIINT NIIN

13. »vnnT 89N, there are those that , N29 N, that really X2 answers (90 93 »07’s question:

how can the 5y be pthe 590, if itis a 5 NOV 927) that 99 99IND nwyy, it’s as if

the said to the vy that if the 19 is and the amw pays, then nna%39 o,

right-before it was stolen, 99 n"%p, the 19 is going to be to you.

14. (Since the 779exists, itisnotaproblemof __ 5 3 xsw mpn 7>N).

13| #2 200 )
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Step 8: nonvy
The x99 asks, “What is the difference”, between the 2 or¥99n of xaA.

111199392 AN

15. (The N9 asks): ¥13%3 »nn, what is the between the 15 \11n of xa and the 2™ xyn

of a7 (the T N)?

16. This kind of question is called a #2990 Np9s. 72320 Np9) literally means “we take out from this”.
When learning we often ask, “what’s the 719399 8p23”, which basically means “what difference does
this make”. In our x>)yothe x9p)provides 2 different versions of x#37’s yr7921. The x90) therefore

asks, 172222 >xo what is the difference between them or “what is the 793"

Step 9: yn #1
The N9 provides two 12391 Xp9y’s between the two o895 of xa.

NI2T 2297 NOVIP 11722392 NIIN

17. (Answers the /1)) 11323 89N, there are differences between the 2 o>y of x39. The first Xp9)
M IS the * of X921 74. X7 1 had asked on the 1% yrpn of X270 “Why doesn’t the 1w
also acquire the Jand the ), since he owns the 729 (the /799) from the 79200 nye?

18. According to the 2" \yyn of (the T NXN) there is no »owp from my and mTH
because the y1>5 only belongs to the v just seconds before the na»» occurred. Therefore all
the mmand 175 already belong to the 5ya. . ;

r 1 #1 19399 NP9)

PIINT NN ¢ #3 Y10 |
: NTIT /T NOWVIP
#1 27/p9) e

— v \
- ‘

LAl
\ | pg—
>
NNY N0

19 PP

>
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Steps 10: Y90 #2

:DINA RIDIPT 09 N

19. "N, another 2920 NP2 1S, BaNa Nn»p4, if the ndo was in the *

, the swamp, when it
was stolen. According to the 1%

, the 9mwis 77 the 7779 at the time he received it from the
5y, therefore, even if it was in the oax, he still gets the 592.

20. However, according to the 2" y»92:, the 2mwis only iz the p779, 25 Twop. Since the

792 1s in the oy at this time, the 49w has no ability to be s it, therefore he would not be able
to receive the

#2 12399 NP9
DINA NPT

—~— ,y\\/”

-

-

N33 TN
5 ap
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The mywn taught that a 4w that could have been 9va by making a nyaw but instead
chose to pay for the 9, receives the 995. This 8o examines if the 92w needs to
actually pay or can the 9mw acquire the Y95 just by making a verbal commitment to pay.

Step 1: x99
A N1 is a statement of a asmor an ¥,

:[1991] ¥yawiry NN XYY BV

1. (The no»o begins with a quote from our nywn): The wwp says, “If the oxn 90w chooses to
for the y1»>9 and not , then, 799: The bya is mpn the to him.,
Step 2: XM

LD99W XYW 97¥N DYV 33590 VARV 1999 ,NIN  WN B29W B99W XY 119099 97X NAN 93 XN 9N

2. (Nax497an»n /4 - says a 97 from yny 79): When the 9w agrees to pay the Sya for the stolen
NP9, wnn oYY 0w Y, he doesn’t need to actually . NYN, , MMNY 9, as
soonashesaysoywn __ #, “Tam going to pay you”, (and commits verbally, so that the 5y3,
doesn 't need to take him to p77>2to make a w13v), the bya agreestobe _ nthe Y95 to him,

0vrv XYY 97y, even though he hasn’t paid (yet).

Step 3: (py1) NINY
A non4, a proof, establishes that a na%n is 100% accurate. When the x9m) attempts to bring a n’x4,
it brings information from a recognized source, like a nywn or xn’1A.

N 09 NY 1IN DY YAy 89 XD 8D 130

3. (The x99y attempts to bring a nox9 AGAINST 09 79’s 191 by making a p»47 in our mwn):
A p17 is an inference. We make a 7to understand the implied meaning of a statement.
1, We in the aw»70f our Nwn: 7yawsy Ny Ny, v, if the amw pays and
doesn’t want to . [From these words we are 72> 7»]: yx , 09, if the 9mw actually
, then, yes he gets the . But * N9, if the 9w didn’t actually pay, rather

he just said he would, then, XY, he doesn’t get the

16 | oOwnHOPIN MK #3 NOND M) /. = |
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4. Based on our @17, the aw»9of our mywmis a 72a49against pr» 79’s 7. NS

Note: When the 911 quotes something using the word w7, (2 nun’- j, 3,) itis vV = oYy
quoting a mywm. When the x2) quotes something with the word ~2317 (only 1 nun- X = oYy NY (WW)

J) itis quoting a A#2293. 1909 799 XY

Step 4: (p»1) < Dldaa

A nx4 in 89199 must be 100% correct. When the x5 disproves a noxs, it is called a niny
(literally a “push away”). Any n’x4 that can somehow be “pushed away” is considered to be
disproven since it is not a 100% proof.

D09V NIV 97YN NN ND ,N8Y RDT NHYY 705D N8I XD ¥aWy” N0 NIIN

5. (The x99 is nn1n (disproves) the nxg against 109 79): 8o*o NN, “Iwill ~ from the
*, the end, of our mwn”. The xo© says: 7yawy, if the swears, aywh N8y N,
and he doesn’t wantto _” [then the bya receives the 5a5].
. (From here we make a p»4): ns9 N1 v*, the reason the 2w does not get the , 1S

because he didn’t want to . f89 ~n, but if he DID want to , for example if he

said o5w» 297, then he gets the bas, ob*w XYW 97N, even though NSO

he didn’t actually (yet). V] = 789 NY
=1
. From the aooowe makea_____ rthat iss»a9 to the p7of Xl =ny9 8N (P999)

G F 13Ny 799 NS
r"’ =3

Step 5: 7Nypon”

A Nypon is a conclusion. The 891y concludes that it cannot bring a n’x4 from our nywn.

.00 YHPYNY NIYY  NNN NIN
8. (The x99 “concludes” that we cannot bring a 1784 for or against 10 74 from our nywn): NON

NAn, rather, “from ” from the words of our mwn. Ny Y X999, we cannot
“hear” anything from it. Since the a¥»49seems to be wwws, to imply, not like the p#of prr 79and

the * , seems to be », imply, like the p7of pn 79, we cannot bring a #72a4 either

way.
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Step 6: 79N

N8I 27AN) ,¥aW)I 230N BYWN 23990 , N0 9HNY , 023X 1923010 D99 9IVN 13NN 79T DO NI
/99IWY Y99 TN BYvn 230

9. (The x4 brings a n°x9 1o 9309 74’s 17 from a x;»»93a): Ndan, we taught in a

, o3, like, 1y 74: “499wn, one who a*

from his friend and it is , 19N 9N, and the says to [to
the bya], 39N BYWUn n, “T will and not make a ny»vav”,

if 971N, , the 23y is found, he pays the Y95 to the *

10. From this as22493 we have a clear to pnyr 79’s P, that the 999w only needs to

he will pay to receive the 595 but he does not need to actually pay.

Step 7: XM
N99 74 explains when and why the 9ya is willing to be nypn the Y95 to the 4w when he
pays the y9% for the stolen ppro.

109 99V 99V N353 DIWOI 909 YA INT NP9 1Y NIPN INYVY YIRY 1123 DIN MY NI 29 N
1199 291 XY 0YYN 23990 VINY INIY .ONMNY_ D993V DWW TV I¥a INT N9 195 NIPN N3N 9INY
DY NY NINDMD NN NNN THININ HNNM HNNA (1) NIWOI TV HD NN INNA XD

11. (The x93 brings a x9%9m from x99 74): A n v who says »nyws, | was

(and is being 2»nn himself), X995 Mpn, the bya is still going to be * the bas to
him. sya »n4v, because if he, the v, wanted, he could make himself 9yvs by [lying and] saying it
was 1235,

A v v who says * (and is thereby being 2»nn himself) the Sya will be

nypn the * to him, a 4, because if he , he could make himself
M9, by [lying and] saying an o»x, an , happened to it, such as n"awv, it

or* it died.

(We see that a99 79 holds that the syais Apn the S95t0 the 99w when he says he is willing to pay, even

though he hasn’t actually paid.)
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12. (x99 74 continues): A Yxyw that says ” A, ’'m willing to , the bya is not

Mpn the a5 to him. Since a bYxv is always a»n (because yo>v nnon Y) the Yya isn’t mpn the Y95
to him when he only that he’s going to pay.

13. (x99 74 explains why a 98w is always a»»n by asking rhetorically): [Regarding a Sxw,] o83,
with what (how) could he possibly make himself a7 naxbn_ s n;na, with a claim
thatit _ while he was doing his work with it?

14. (Explains xa9 79): a] ” 1, IS not nraw, it’s not probable. It is quite rare

for an animal ()y1>9) to die while doing its regular work and the Sxyw would not
make such a claim. Therefore, since the S»w has no way to make himself 9w,
even if he says that he will pay for the item, the 4¥4is not A0 the 595t0 him.
The 755771s that a Sxwis 7)pain two instances. One is if 73859 nppw App7, if the animal or
item died or broke while the 5xwwas using it. (The other is if 7oy »95y37, if the owner was

working for the Sxw at the time that he borrowed the item.)

Step 8: x9Mm
NN DY IV YA INT ,NDIDD N 2PN DIYN 33990 INNY 1129 3193 INIYW NI 29 AN 19INT NIIN
LDINTN NPNHN

15. (The x4m» brings a second ywy, version, of 829 79°s N9M): 4 N9'N, there are those
that say, that this is actually what x99 27 said: ») YN, a t00, 9nNw 1993, once he says

* the Yya will be nypn the Y95 to him, rya 4, because if he ,

he could make himself 999 with a claim of N NINN 1.
Step 9: N9

199 2991 NY N992272 YW ANIN 99 2NN (7)) XYY NN . OHYWIY 1Y INIY 22N AN 290 1At 29 DY 99N
N2295

16. (122t 79 argues on the second ywY (the »9nx7 NX99X) Of 899 29): 1Y 9N, 123t 74 said to 2.
AN 99N 97, this is what * said: A 9nw will not receive the ba>, 4y, until he

actually pays for the 9. v n, what’s the ? YN, since, 99

v, since all the from the item goes to the Sxv, X923, with his words alone of

just saying “I will pay”, the Yya is not willing to be * the * to him.

19 | o5 >IN NN #3 NN M) /. -



N DN/ 79 PN
NV NPV 19 97 N9

(2) 7PV V91Y 7YY M NP X | #1 N899 29

PNRNN NHNA NPV 909 *¥a NT ‘/ /#2 NO9 29
AINDN Y9INT NIIN

ND N91272 ,0W NN D) D X
N9 1D 3PN

75at 24

Step 10: Nowp/nINY

The x99 brings a n’x49 from a xn»»9a to 9933 /4.
[Since 722174 says the same y>7 as the 1% pwY of x9a 79, we have a 7’89 to the 15t pwbv and a
Nowp on the 2™ ywby.]

2PV DYWN 2N N8N 97NN ,BDIWI INIWN BTIP) N33 192NN NI INIWNY 9938 397 NINNND NN
7. 9NIWY 9o

17. 922t 2447 7o XN, we taught in a like 7>2% 7~:
“If one borrows a * from his , and it got , B9 NN PP,
and the SN comes forward and . Afterwards, if the * is found, he pays

5 n, to the *

The x93 seems to clearly say that a bxyw only gets if he actually pays. Just saying
raywn 2907, “I will pay”, does not get him the Y95. Thisis a to the 15 pwY of oo /4.

19902100 MHD0N N1IY  NINA NIYIDY .NNAVH NN NI INT) ,NOO 297 NN NIY9Y

18. (The x4y explains the moxa): xnp 99, accordingtothe  version/yiwb of x99 29,
to the Yxw when he only says he’ll
pay, Nnayn 8NN N9 INT, this Xn»93a certainly isn’t a on it.
19. N9Ma NawdbY, but according to the second (latter) version/ywoof _ 2v(the N
to the Sxww, when he only

SAYS he’ll pay, nnarn »non 8y, let’s say that this aisanowp onit?

=
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Step 11: Oldant

795N 9193 RN ,79ANA NINIPINY ,”D0Y” NPT 1202301010 RIIIN 3 NI 29 19 IIN

20. (The x93 is nna the 798 to a1t 25 (against the 2" pwh of x99 29): X99 29 79 9N, N99 19
can ____ toyou, Nm9x ’m, is this xn»12a stronger, 1, from our mwn? »np4, we taught
inour ___ n, [using the word] »aYsw, if the Amv . NN, and we established that
it means, 74nNra, that the amw justhadto  he’ll pay [but doesn’t have to actually pay].
(This was the original p>7of our x20 - see Step 2, pn 74)

21.9m389n, 100, in this xm»»9a of 7 anm 779 55w, When it says ” oo e 10777,

that the b>~xyw came forward and paid, it doesn’t mean that he actually . Rather it means

* a that the Snyw SAID he was going to pay, just like we explained in our mwn.
Since it is possible to explain the words 7a5w1 58w o7, like the 2" ppsof xoo 24 that

the sxwjust SAYS he is going to pay, we no longer have a #’A4to 724t 2.

Step 12: nowp
1P NP NID QTP NP N onn (1) ST m

22.(The x93 asks a 8w on the n°n4): 47/, are the mwn and a similar? onn, over
inthe _ n,o1p NY, it doesn’t teach using the word * . Therefore
it is possible for pn» 7 to explain that when it said ~»_____ w7 it means that the 9»wsaid he will
pay.
23. Nof, but here in the xn»ma, ra19pr 9, the xp»yasaystheword 4, meaning the
onww actually came forward and paid! (see below)
24. Therefore, how can the a902 possibly suggest that the an2»93 which says ~o7, means that

the saxwonly SAID he’ll pay? o7 means he actually paid!

Since this xm»»4a uses the word o7p we have a nox4 that the only way a Ynw can get Y95
is if he actually pays. This is a #2a9t0 44 against the second * of nooa91?

82 INYWN D100) ,NaNN 193NN NI TRV N9

7 .. SN N a2y 7 nIwn
/
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Step 13: yy'n

ANNY PP (1) OPP NN

25.(The 2" pywy of a9 24 explains the xm9»43): When the xn»9a said 709w Sxwn a9y, o1p
means, * , that the bnyw came forward and SAID he’ll pay but not that he actually

paid. Therefore this a4 s still not a #2a9to a9,

Step 14: nowup

DIND NPT N7Y 7DD HNIY 33 7NN 99IVW 3) 3N XN

26. (12av a4 asks a Xrwp on x99 ’4’s explanation of the xns4a): [How can the xn»Ha of “ o
DY HNIwWN” be explained to mean that the * said he’ll pay], if the xn»12, »anp4, that
we taught, by a * (see Step 6, line 22 of the 1)) said 91N, “thatthevow _ he
will pay”. While the xn»92 about a Ynyw was careful to say (09w bxwn) ), that the
>nww CAME FORWARD and paid. n ynv, we have a n>8y from here that the wording
of the xm»ais 4, itis exact, and the word o1*p means that the Yxyw actually paid, not
that he said he’ll pay.

27.We therefore, have a n’)xa to a5 against the 2" pwyof _ a4: that a y»w only

gets Yo if he actually and not if he just says he will pay.

Step 15: 0

The 24 x99 /9 makes a final attempt at breaking the nsx4 of 12at a4.

1 N3N 3119 533 YN

28. (2# 99 79 attempts to disprove the x4 by asking the following noxw): »m, was the matter,
meaning the 2 ;12293 8030 110 -23), taught ? Perhaps the xn»92 by a 999w of 9N
and the xn»1a of a Yxyw of o419 were taught by different authors that use different language,
even though they really both mean the same thing: that the sxw who SAYS he’ll pay gets the
592.

29. Therefore, says the 2" pwsof w99 79, you have no proof against

me from the as»r91 of orp.
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Step 16: Nypon
122390 2790 23) S9N L NYWIN /9 22T NID 229 %27 ININY 1NNYNY

30. (The x99 rejects n29 74’s answer and concludes the first discussion of our 8Mv): ¥»Y»Y,
they (the na>w> »2) , "NInY, to the teachers of mn»13a, *a4, in the house/wy7n noa of
»a4 and a4, [if the two mn»a had been taught \ A
together ? ]. »aman, and they said, % 03y, that, indeed both
mn» 2 had been taught together.
31. Since both mm»1a were taught together, it is clear that »»np xpnT, each xn»9a, was worded

exactly. Therefore, the xns9a of oYrwy YNIwn o199, can only mean that the YNy

actually came forward and paid. This is a 4 to avandis not like the #

WY of Noa /4.

4 e 7,020 HNIWN DT 2150200 ,H19%aN1) N9 DN ND92
4 N$?92

()an2 79)

; 7,..05UN 23990 ,ADIRINNI XN 19%aN1n N9 999N

32. The napon: Since we have a clear 7°x49 to 422t a9, we must conclude that the na%n is

like him, that a Yxyw only gets the Y91 if he actually for it.

Quick Summary of the first part of 3# xo0v:

The x ) brought a 8920 from 9909 79 who said that a 9mw only needs to say he’ll pay to
receive the a5 but he doesn’t actually need to pay. The x93 brings ny»xa to PN 7°s 1. The
N9 brings two different mmwb from xas 24 discussing if the Sya is nypn the 95 to a bnw
when he only says he’ll pay. The 1% pwb of xaa a4 said that a Y51 won’t get the Y95, The 2
YWY of Na9 a9, the »9maNT 899N, says that a dxw will get the 595 just by saying he’ll pay. 24
4»at argues on the second ywb of x99 21 and holds that a bxyw only gets 95 if he actually
pays. The x 1) brings a xn»1a that proves the nodn is like 721 29/and the 1% Wb of nao .
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#3 Nonvo/Part 2

After establishing that a 9w who SAYS he’ll pay gets the Y95, the x99%) seeks to clarify when this
naYn applies. The x9m» asks if the 9w will receive Y95 in 11 different situations.

Step 1: x99

LD9WN 23990 9IND NN ,05VN 23990 AN 9N BIYUN 1IN 9NN NVIYD

1. (The x93 begins with a X91391): 9, it’s obvious, obwn *N MmN, if the says “I
will not pay” for the yy1p>a. [Rather, | will swear and be 7109]. 498 93m, and afterwards he goes

back and says * , “I will pay”.

. The y7 is that the amw gets the Y95, since (ultimately) abwn 190 9xp NN, the said
that he will pay for the yy1p29. Since the 99 was now 222n. himself to pay for it and the syais

no longer suffering any loss, the will be A0 the to him.

Step 2: mynw (1-11)

NPYTIN N3 970 NP 97050 1009BK 3 (1) XD YW 339N IAN) TN BYWN 33990 TN NIN
1999 3N NPT NI IINTY IND DINYNa

1# nYNVY

3. NYN, but if the v says, * , and then he is * n, he changes his mind and

says * , N1, what is the no5n?

DN, dowe . mvastn_ a1on, the amv is going back on the bya, meaning he is
changing his mind and he really isn’t going to
mpn the Y95 to him.

. NAYTIN, or , INP NonYna, really the Is staying with his words, and really he
intends to pay. [The reason that now he seems to be changing his mind is because] v »nm, he is
just “pushing off”, 7’9 *nm xp+ that the is pushing the bya away (because he doesn’t

have the money to pay him now), but really he intends to pay him. Since the “mw has already
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2# nYNY

NNYHA NHNTTIN 902 2970 N2 9709 199N 29 (2) ONM ,1205WN 1IN 1PN 1232 199N 19 BYYN 23990 9N
1099 1070 NPT NID NN 01990D PIang

6. M 0bwn 290 MmN, if the 1w says, “I ”, and then he dies. y5vn 1IN PN 199N)

and his sons say, “We are paying”. * , what is the n25n? * , do we say,

113 997N Xp 970, the 9mIv,’s sons are going back on their father’s word, meaning they are not

. NIYTIN, Or , 9P PANT NnNYNA, the o)1 are really keeping their father’s words. »n™

N0 and it is just 7, 19 01 ’p4, that they are pushing off the , since

they cannot pay now. However, since the o»a really intend to keep their father’s word and have

34 NYNY _,f-

INIW NI NNIDTIN ND 191D, INWOI NI 0D 1a¥T 1IDIAND NDO INIPN 29 90D 9N I8 (1) IN)D ,0233 mbdY

8. o3 myv, if the vmvw died before he had a chance to say oYwn »>9n, and then his * . his

children (o>w), pay the bya. snn, what is the ? 909 99N *8n, can he, the bya, say to them
(the * ), X995 'NIPN 23, when was | willing to be mpn the a5, pavany, only to your
, INWOI N 99 1ay1, because he did ‘favors’ for me. But, y97945,t0 | N5, | am not
willing to be mpnthe _ to you just because you decided to pay me, since you never did any
for me.
. NnRYTIN, Or , NIW N9, there is no between the sons of the 7mw and their

father. If either of them pay, the bya is happy to receive the 9 money and be nyp» the 595 to them.

4# NYNVY
NYPTY N AN DU N9 DY NTAYT NDI0S NIAN TY PN 9 11T 9NN INN (1) INN D07 oY

INIW ND NPYT IN

10. 4% 09w, if the bya dies before the had a chance to say to him that he’ll pay. Instead the
Imv pays the * , the children (of the bya). * , What is the nabn? 19 91N 18n, can
they, the say to him (the amv), 89295 N»aN 79 29PN 23, (‘when’) our was

willing to be n the Y95 to you, because nr*wa) Ny 1YY n1ay+, you did for him. Yan
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PN, but “we”, y11Y, to us, XY, you never did any favors and we are not nypn the to you,
even though you paid us.
11. 89w N9 NnY1 9N, Or maybe there is no . Whether the 9w pays the 1y to the Yya
himself or to his o»3, his , they are both the 595 to him (?).
5# NINY

DN ,D%3D 023 1Y

12. ©2aY o4 mbw, (if both the 9mwand the 52 die before the y97was paid and) the sons of the amw

paid the sons of the for the yy1pr9. s8m, what is the na5n? 379 - Do we say that since the
fathers were friendly and did favors for one another, the children of the bya are nyp» the Y95 to the
children of the . Or, do we say that the children have nothing to do with one another and

they will not be the 995? o

64 NINY B
DINP ASNN (=247

a L 'Q S
13. nsnn obsv, if the amw says that he is only willing to pay for nsnn, , the value of the
NP9, 'Nn, what is the ? Will the Sya be mypn half the Y95 to the 9mw? Or, since the
IV isn’t reimbursing the 5ya for the entire yap and he is still suffering aloss ' _gg-

the Sya will not be nypr any a5 to him?

7# DYNY
1IN 100 NNN BDYIW) M99 INY INY

, and after they both got

stolen ynn nnx oy, the S paid for only of them. snn, what is the ? Do we say
that since the v paid for one entire n9a the Sya is willing to be mp» to him the 555 of that one

only paid for half of what he borrowed, and the bya

is still suffering a loss, the Yya is not nypn any of the a5 to him? \f&

i

8# NINY
DIND D1 INNRD ©IIYY L POMYN 11 INY J

15. pamwn i Yxv, if the 1w from partners, ynm N9 9w, and after it was stolen he
paid one of the * for his half of the y1p. »nn, what is the ? Do we say that

since he paid all of the yvp that belonged to one of the * v, that amw is mypn his portion of
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the 595 to him? Or, do we say that since the amw didn’t pay for the entire (n19)/)7770 the oodya

aren’t mpn any of the to him?

9% NHNY
DIND NN ION DIIYI IINVYY PPOMY

16.99NWVY pPamv, that borrowed together, and after the yy7>>9 got stolen, yn 9nx 8Y'w, one
of them paid up his half of the 7 to the ____ 2. »nm, what is the na5n? Do we say that since he paid
all the y7p that he was 2»n to pay, the bya is mpn to him his portion of the 595? Or, do we say that
since the bya hasn’t been fully compensated for his 79, he isnot goingtobe ___ the 595?

10# YNV
1INN ,NYvaY 0wy, AYND 1 INY

17.Background information: Generally, all of a woman’s property is owned by her husband /7» 5>
719va mp neN wpv). However, property that belonged to her before she got married is different.
This property is called y59 »p3. The 72557 is that the 9 (the original/principle value) of »59 sp2s
belongs to the woman. It stays in her possession, and the 5ya cannot sell it. However, her husband
gets the m9929, any profits that her m5» e make.

18. nwnn y Sxv, if someone Mo >po) from a woman. nbyay absw, and after it got stolen

the ~mw paid her . "Nn, what is the n55n? Do we say that since the 9w didn’t pay the
actual owner, the , she is not mypn the Ha5 to him? Or do we say, that since the husband
gets all the ny19, he is considered to be like the bya on it. Therefore, by paying him for the y2p the
* gets the Y957

11# nYNVY
DINS ,DYya 892, AYNVY DUN

19. nonww NWN, a woman that , NYya vy, and her paid for her, »nn, what is the

no5n? Do we say that since her husband paid all of the y7p, the bya is mypn the a5 to him? Or since

her.

Step 3: Napon

20.vpo;, (literally) let it rest. The x> does not have a conclusive answer to all 11 of these mbxw, and

leaves them unanswered.
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N1 to #4 Xone. What you need to know:

ANIDD - Anmvnis aloan. A nnyoa is
between a mYn,a lender and a Mm%, a borrower. :
The money owed is called a 2in.

'::‘1 9995 NYPNI NN

\ @ } y @
(<\
NYPRA NN NIV

Besides for o>»mwn nyav (the nyyaw that a amw makes when he is 'nos), there is
another xn»INT Ny1aw. This is a nyyaw for being ngpna n1in, “admitting partly”.

When a person makes a claim against another (the claimant is called the »yayn) that he
owes him money (or anything else) the na5n is as follows: If the defendant (the yams) is 9915
Y51, he denies that he owes anything, he is 19s from making a nyyav, (xn» 7). However, if
the yam, the defendant, is ngpna N, he admits that he owes part of what is being claimed
from him, he is 2»n to make a xn»9I87 nwaw. This is called a ngpna NTN NYaY.

199291
When someone makes a m¥n, a loan, the nyon often take a ya¥n, a security
(collateral), to make sure the njb, pays back the ain. If the njo doesn’t pay back 1121
the an the nyon, can keep the yiawn. Sometimes the y¥awn is worth more than <
the a3n. When this happens the ny5 must return the extra money (unless they
agreed that the mypn can keep the 1)5¥1n no matter how much it’s worth).

Currency in the times of the x9):
‘m’)n‘l "3 mv:\m

(Actual coins.
Values were
based on the
weight of the

b"’w 2% silver)
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Step 1: x99

N9 79 comes to clarify the y»1 of our nywn: Although the nywn said 7yawsy Ny X9 oY w”,
that the 9myw can pay and not swear, nevertheless we are afraid that maybe the 42w
decided to keep the y1psa for himself. Therefore, says x»n 74, the 129 are a»nn every 9wy
(even if he pays) to make a nyaw that the %o is no longer in his possession.

L0313 1990Y NIAY 10WN, RAYY INM IMYID NIONRY DAY ININ PYSaWI XN 29 AN

1. (x»n 4 clarifies a 7 in our NIwn): MY NPNY DAY IMN PYaAVN ,XHD 29 9N, we make the

v (even if he paid) swear that the Is not in his possession. v n, what
Is the (?), 992w n, because we suspect, na ym 13y NY, maybe the v “placed his

on it”, meaning he stole it/is keeping it for himself.

Step 2: nowp

The x93 brings a 8*wi on the 4 of 839 79 from a nywn in Mmyav naon. The nywn discusses the
0297 of being nypna N1, and the nypn that Y71n made to prevent problems caused by the nyaw.
First the N9, brings down the entire nywn and explains it. After explaining the nawmn the x91)
uses it to ask a Xowp on x»n /4. (The 89193 won’t get to the actual X>wp on x»n 74 until .nY 97)

The Ay in myawhas 2 parts to the agr9and 2 parts to the yorv:

In the aer9the 150 is claiming money from the 415.

90 .7V D90 YPY 1YY PNNYD Y97 15 9N NAWND TaN) PIVND YUY 1930 AN 19NN 2N
2909 .70 D90 ¥ 199Y 33NN YOO NIN 39 NY” N

2. (The x99 introduces the nawn to begin the 8*wi on X1 79): 235, | will you a

question (from a source, a 7w or xn2273). The Nywn in Mmaw says:

. (Part 1/ nwoa7 8WM): pownn Y 192an nx mnn, if someone money to his friend and he
takesa * , PaUnn 4any, and the nown gets . 99 9N, and the mbn, the ,
says to the mb, the , MY 9N Ypw oy oo v, | lent you a yoo (which is worth
# o) and the yown was only wortha* | (which is #2 o»»71). Therefore, although |

lost the pawm, you still owe me #2997,




Y N/ 79 199190 3-17)
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4.

o | gy | o

4mI8 N9, and the other one, the mb, says back to him, »&97, it is not S0, 199 %NMNHN Yoo NN Y57
v N7 ¥, rather, you lent me a * , and my yown was worth also worth a y>v, therefore |

owe you nothing.

. (The y7): Since the m>was 5577 7915, he denied everything, he is 9va from making a v.

HINT: We know that it’s the 71950 talking when the a9%) says 12121579, which
means, “I lent to you”. When the 75 is talking he says 2292154, which means,
“You lent to me”’.

NPT XY

(02997 4) yvo

(%491 4)

AP0 VY DD D937 AWV 1Y SINNDN YOO NIN D XD BN NN VDIV 19D YDV 1Y TPNNID ¥

6.

(Part 2 / w91 X920): "nw 199 9y Panvn yoo, | lent you a yoo (which is worth #4
) and the »own was only worth a * , (Which is#___ o>»»T). Therefore, although |

lost the , you still owe me #2 o937,

. MIN N9, and the other one, the 9, says back to him, »x9», it is SO, NNYN YHO NON Y97

MY NN 4 v 99y , rather, you me a ybo, and the yyown was actually

worth #3 , therefore | only owe you #1 4»7and not#___ .

. (The y>4): Since the m> was 7, he admitted to owing part of the claim, he is 2a»n to

make a NN»IINT NY1Iv.

NY>TT X9

i |y

%9397 3

(o931 4)

30 | YmMWI2 INRY NIIAY /RNN T 44 NOND 03




Y N/ 79 199190
NV NPV 2919 97 N9

In the a92o the /251s claiming money from the 715%.

SV 7MW DD YYD 1Y TINNYN YID NON 9D NI ANIN NI IIW DD A 1YY INNID ¥H”

9. (Part 3/ xo*07 Nw): "mw 19N 72,95y aannvn yoo, if the mb says to the , you lent me a
*  (worth #4 o>»7) and you lost my which was worth #2 osy9v (worth #8
0»»7). Therefore, youoweme, #4 __ «.

10.9m9% nYm, and the other one, the mbn says back tothe _ NbY, it is not so, 7>n"9n ¥ XYN *5
MY 10 oo 1Yy, rather, | lent you a yoo (worth # ) and the y1own was also worth a
Vou. Therefore, I don’t owe you anything.

11.(The y>9): Since the mbn was Y51 1912, he denied everything, he is from making a nyav.

NPT XY™

(D937 4) yoo ”,v =913
You owe me: y9vo 1l (099227 8)) vho 2

(097 4)

mb
AN NIV NN 82937 /D 9y TIRNYH YD NYN L) N9 LN YN Y DN 02Y %99 InNYn o

12.(Part 4/ x9*047 NX2*D): "mw 90 7a 1Yy nnvn yoo", if the says to the mbn; you lent me a
you, and you lost my yown worth#  oybo (8 o>»7). Therefore, you still owe me, # o907,

13.9m nvm, and the other one, the says back to the mb, "897, it is SO, Y90 NONOS

MY NN N9y onnon, rather, | lent you a yoo , and your was only
worth #5 . Therefore | only owe you # 9327,
14. (The y>7): Since the mYm was A7, he admitted to owing part of the claim, he is

* to make a XN»7INT N1V

0997 § ”bv

Youowe me: 0927 4 | (0"9978) oowho 2 (9931 8)
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The myw» concludes:

21990 NN DD NIN DT YAV NIV IDSN NIPIDY I 1¥av)

15.(The nywn concludes and introduces a new npn that 9730 made): yaws », who is the one that
(?) 198 p1panw »m, the one who has the N 1pra/mnown by him, meaning the
(who had it last). Because we are afraid that, at yaw» 8w, maybe the 19 will swear how much his
Nown was worth. prpan X n9n No8, and then afterwards, the mvm will take out the s to
show the m?b was wrong (if someone makes a false nyyaw, he loses his m w> npin and becomes
9o “forever”). Therefore, in all cases of our mywmthat the p7is 3220 (#2 & #4), the 1m0 is
the one that needs to make the Ayay, since he had the paws last. The o205n don’t want

the M5 to swear to make sure he isn’t ruined forever.

32 | "MW IIRY NYAY /RN T G# NOND X
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The x91) analyzes the last statement of this nswn and establishes which case this y»4 must be
referring to.

10300 NYDN SN XD NOT NN D190 3 DAY 059 DID ,NOIDN NIIIIN INIIAN

16.(The x9m» asks rhetorically): x»nx, what is this y7 (of 7...yaw>n”) going on? 5 N, if you

say that it’s going on the X9*©, [where the /715 is being

7

because his yowp, was worth #8 o297, and the mbpis *

yain (claiming) that the /7250 owes him #4 : =3
— £

2 », by saying the yowp is worth #5

o707, and therefore he only owes #1 9»>7]. If this is what
the prof ~..yawysn~ is coming to explain, then mam
7%Y, we should learn-out/know that obviously the mbon e A4

must make the nyyaw here : Non 191 *a) Naw4, anyways

the __ nisgoing to have to swear , nayvn ngpn 1 Xp NN+, because he is the one that is

being * nayon n! There is no need for the p7of ~..yaws 207 - that we take the

Ayaw away from the m5and instead make the #15» swear since he had the paws last. For in this

case the m5»is already the only one swearing!

NYIIN INIDY 9N NIN
17.(The x93 answers the previous (rhetorical) nonw): x9N, rather says * , the last y of
our mwn of » 7 is going back and referring to the case of the *

The x4 clarifies Yxmw*s explanation of the nywn:

2INNYN YOO NUN D NS PN DYDY IO DD VP 1YY TINNYD YD i NWIIT NOIYON T/NYIINY INSD

NN, DT YA NHPY oI ¥AnWY 1939 99N NI DY 3a) AMAWYT ,YaNN W 00D 199301 WYY 1Yy
J1P90 AN AYh

18.(The x9m» asks (rhetorically): 7xwsan sn,, what did Yxnw mean when he said * ?
Clearly the last y>7of our /e cannot be referring back to the very first case of our /e, because
in that case there is no 7w at all since the mowas %57___ sand is 7.

19. (Answers the X91)): XW97 N9YON, YNIDW means that the 7 of )" IS going back on the

N9°*D, the end, of the 5 which said:
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20. (The mbn says: “I lent you a y>0 and the yown was only worth a Ypw and therefore you still owe
me 2 o7»7. The mY argues and says: “NO, | borrowed a y>o, but the nown was worth #3 09717, &
therefore | only owe you #1 72>7. In this case the mY is 29 n to swear because he is nspna N7n)

21. 1929 99N, on this case the 1324 say the 127 of ...yaws ’n: that, although the #15is a»na Avav

NN since he was #7mm. Nevertheless, mbn yanwy, the mbn is that one that must
make the nyyaw. Because we are afraid nt yaw» 8w, maybe the mb will , N N9N NN
»1an, and the other one, the * will take out the * and show us that the nm> just
made a false nyyaw! This would o2 the 715 (make

him lose his m9w> nzin and make him unfit as an

7v...). Therefore the o'nan said, that instead of the

_____making the nyaw, we make the m9n swear

how much the 1 was worth since he was the

My,
N p,

one who had it last.

=3 oo

The nowp: (from Step 2)

After explaining the nywn in myaw, the X913 now asks it’s X>wp on the )47 of 83N 74.

109 D291 AN 99D MWL NIINY NI YANYNT 1999 NN 3979 NNHIN ON)

22. (Asksthe x9m): 8299y oxv,andif__ 4’s pris correct, and every 4mw must
swear that the item is not in his mwe4 (»7¥9—the m5»is considered a 15 1Y), yanwnt Mo
MY NIRY MY, once the mdn already swears that the yownisnotinhis | p9nssnr»aon
7Y, how is it possible for him to take it out and 5va the #25? From the fact that the Aywm says we
make the A5» swear how much the pawm is worth, it must be that he is NOT swearing that it is

199N, and a7 349’s pr7is wrong?!
NP
$9

M1 W

(MMav Nyvn) NN 239
119297 NYAY WAy AN’
o 32Y) N NINY @rll-n)
IINYYY NV mmmva
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Step 3: * naq/8a29/ #1 YN

Na4 establishes that the nywn in mwaw which requires the mbm to swear [instead of the

Y] only applies in a very specific case.
D9V DY WV N2Y/NIY NN

23.(xa4 gives the 15t answer on the Xowp on X1 74°s 14): The mwn in noon where the

mbon swears instead of the m?Y is only in a case where there were * that the y»own got burnt.
Since the nown is gone the mbn does NOT need to make the nyyvaw of x»n 71 of Mmwra N, In
this case the nywn says that the nyon swears nw 15 so that he doesn’t ruin the Y.

(N39’s answer for X377 39S (MY Mvn) 1D 2 y? » 6
called making an ampymIN. A ay ﬂ% N
' R SOVPRYE sy MPaunn

An Nppr21x means to establish 7NSYY NDY v

NnavvYVY
(* a39was a rusnof A39and 9o 29. Therefore it really

that something only applies in a
very specific case.)

only makes sense to have the av421 of #39and not x14.)
Step 4: novp
109 /0% NXIYDM 391 IN

24.(The N3 questions xa9’s Y*0): »an N, if | [that in our msem the only time we make the
s swear 1my93 18 is when there are ooy that it got ] but if it got burned, x5
Y omn from can the mbn bring it? It’s burnt and he can no longer mess-up the m> so

why do we need to have the mb>n swear at all, we could just let the mb5 swear like he is supposed to!

Step 5: 9099 29/ 2# N
D23 DY YIY 9D 29 AN NIN
25. (909 a5 slightly modifies na49’s answer for x»n a9): The mwn in myaw is only discussing a case

where there were o1y that the yown was . Since we have o1y that it is no longer in the

mwA of the , N0 1 would not require him to swear that the yown is 2 N,
it’s not in his possession.

26.However, since the 1Y, had the nown in his mwA last, the nawn teaches us that we make him
swear how much it was (since we’re afraid that if the mY> swears, somehow the o will
make it appear and he will 5yos the ).

5
(MY nwn) A &A
119297 NNV 12 “an”

M2V S0 IPNY, ”)2unn
NSV MDY g P
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Step 6: NoVD

10991999 NHN N0 D

27.(The x93 asks on 991 29’s YN): Po 9o, in the end, if the own has been , N NIN
nY, from will he bring it? How will the mbn get ahold of the 2w so that he could possibly
909 the mb?

Step 7: Yn
.09 359919 N0

28.(The x9m3 answers the xowp on 991 29’s ¥9°n): We are afraid that the mbn may be nv, he may
, 1Y >n and (track down the 23 and) bring it. Since he could then 5yos the mb, we make

the m5n swear about how much it is

Step 8: nonvy
DIPYY MY NIVY 93,091 YaNWM 39 990 IN

29.(The 9, seeks to understand gy 29°s Y1) %an _ , if so, that there were y

v, why does the mwn say that we make the mbn swear instead of the __ , since the
m>n may [track down the thief and] “find” the y1p29. (How does this 252 help?) nyvn yanwn »s,
even when the * swears, ____ n9vY "), the mY can also work hard, find the thief, »5
and ____ back the yown, and then Yvoa the m9n!? Why is the /owp only helping the /75 from

being messed up but not the 7151?

Step 9: v'n

N33 P9 DY INS Y13 99 DIV NIN .NY NI NIVI DIINY N33 PO DY NP IND Y12 NITN XYY

(1) M1

30. (The x9%3 answers the nYxw 0N 991 29°s Y11°N): M NnvwAa, it is that we make the
mon how much the item was worth. Because (since he had it last) 793 99y Nxp N0 y47°
7°1°33, he knows who is coming up (into) and out of his , & we therefore need to be
afraid that n9vy x| the mn will go & work, * 1% 1, & he will bring back the nown
from the thief.

31.m9 N9, but regarding the m5, (who didn’t have the powp last), mmaa PN yINn
i+ - does he know who goes in and out of the of the * ? Since the mY has no
idea who the thief may be, there is little chance that he can find the 233 (and 509 the non).

Therefore the 7w requires the 75p to swear instead of the 75.
36 | YMWI2 INY NIIAY /RNN T 44 NOND 03
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Step 10: »an 7 #3 0
SVNNREN ANAY INN 1Y AN PPV NHY 19011 IIIN AN

32.(»*ax gives a 3" 1991 on the Nowp to 81N 29°s P41): »2ax holds like 94 35 that the 999 must
always swear that the p#222is not in his . Nevertheless, even though the mbn already
swore that it’s not in his mw~ we still make the m>n _ instead of the m% of how much it is
worth because of a * that: nmaw 9NN I 9N PV ’NY, maybe the mon will claim after

swearing that the yyown is a N, that monnen, “I have it”, & then the n9n can

9109 the nb.
33.Therefore, according to x»n 29, although the amwv already swore that the 129 is ymwia 1N, our
mwn places a 2 on the mbn of how much the y1p>s was worth to ensure he doesn’t

somehow find it and ruin the the mb.

Step 11: »wn a9/ #4 N

$aW) 3”7 : NP 990 AW N30 D9 YAWI AT MWD DINY YAWI N1 ,¥aWI DT ¥aWI DT AN IUN 29
SN1P9N NN 19N NI, DT YW NY ,H9INN YaWs mvn ,H5nn

34.(>wx a1 gives a 41 1991 on the xowp to X»N 29°s p4) [Pwn 29 understands the maww differently:

Really when the /memin said: ~..yaw) 27, the mwpwas NOT taking away the 7vray
N> NT Of Nyppna »from the m5, rather] yaws nt yaws nt, the mywn requires both the
and the mb to swear. 1mw4a NNY yaws N1, the (who had the yown last) swears

that it isn’t in his * . MY 0N NI yaws vy, and the swears how much it was worth.

35.(>wx 24 now goes on to explain how his $»°n reads into the pwY of the nywn): 9nxp sam, and
this is what the oo of our IS coming to say: Nnw ,NYNN yaws Mo 1NINN yaws '
11PN NN NON NI¥Y, AT YaY?,
who swears (?),the __ orthe
m> (since both of them make a w12w) ?

. ; NN 29
[And on this the /ww answers,] Mmon i A einn e Y 1anr

g NV ”2avnn

19NN _the m9n swears first, ‘ g myaa

because nt yaw> xnw, maybe the will swear, y77pan nx NYH NNy, and then the will
take out the yy1>9 and 5109 him. Therefore, our nywn teaches us that although like x»n a5 both the
mun and MY are swearing, we make the mbn swear first that the yyown is not in his
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Introduction to Step 12:

DAY D7)

If someone makes a claim (he is yaim), against someone & his friend is 990 499, the 7 is that the
defendant (the yam) is 7o from making a nyyaw. If the yamy becomes 2»n to make a nyyawv at a
different time, the na5n is that the yajm can now be 539, he can “roll” his first claim into the nyav
and make the yams swear about it as well. This type of nyaw is called a "nyaw 95y, a “rolled” or
combined nyav.

For example: )27 claims ywpw owes him $5. e says he owes him nothing. Later, 72~ claims that
nypy owes him 2 cans of soda. ywwowis nypna 77w and says he only owes 1. The /7557 1s that once ywpow
is swearing that he only owes 1 can and not 2, y2»x3can be 55w a vz on him and make him also
include in his 7vawthat he does not owe him $5.

Step 12: novp

NOYYNN 92 XM 29, asks a new Nwp on 8N 29. Based on the y4on given to this x*wp we will have
a 5™ way to understand how x»n 24’s 4 still works-out with the nswn in myav.

NIY N0 0INY PIY INNYD YYD (NN 299 NNAH NOYDT XYY L IIN NATT N20WN XIYTINN 93 NN 29
NIINY DIT1N YaANWNT IM ,XND 2979 NSIN ON) 799109 1IYW 120 ¥90 998 TPNNYD YD NIN 3 XY 99N NN
10IY D20 D193 OMAY DINTIN ) ¥anWirT MY

36.(x9°9nn 42 X0 29 brings a n*wp from Na9 against x»n a4 from the xw»
of the xo%v, case #3), which said: The _ said, 5y 90, you
lent me a yoo (which is worth #__ o»»7), mw nvn ovnw , and my
worth # oo, therefore you owe me #__ 99394, 99N nM and
the  saysbacktohim.xb, it’s  so, ,»9y Y90 NN 95

W

Moo MY NN ¥uo |, rather, | lent you a yoo and the nown was only wortha 495 ™ g@@@nbn

you and therefore | owe you . In this case the na5n is that the

IS s from swearing because he is 991D,

37. (Asks n99nn 92 NN 29): NN 2979 NN ON), if X0 27 IS correct, (and every v must make a

nyaw that the 19 is » 2 N”7). MY NIRY MY yanwnT 1, since the must
anyway swear that the y»own is not in his * , AV H1YN M) yanwsy, he should also be
swearing through nyyaw 515%, mw 0 nns, how much the n was

However, since the mwn says that he is totally 9y0a from swearing,
| ’ Y J (MMav mwun) NHN A

it must be that 01 27’s 7 is wrong? ATy VY
32V 997 WRY

1NYY> NY mva
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Step 13: Y0 (X5 29 /7 #5)
JPNHNND RON 259 AN ,NIND 297 DMNP NAYHWY DNIINN IUN 29 90N

38.(The x5 answers the Nowp on 80 a9): Said __ a4, xnynvy vy, | was saying over this
Ny before a9, and he told me [that the mywn in mvaw 'on is discussing a case where] xnn
1NnAa, “he should be with his trust” meaning the mb trusts the mbn that the is no longer
in his . They are only arguing over how much it was worth. Therefore, since the mb

trusts the mon that it’s not in his mwA, there is obviously no need for the mbn to swear about it.

(M¥aw nvn) 1) f . \
119297 NYIAY NaYy I N\ “1an”
YA N PRY ot W . "unn
VNS NV RE:

Step 14:n58v

10V YD D199 NNA 319) DI9NRY 1YY D230
39.(The N9 asks): The same way that the m9Y trusts the that the IS not in his mwA.

Why doesn’tthe  also trust the mbm, Xna, in this matter of M A, how __ the
5wn was worth?
Step 15: yyon
.N1)3 1Y P N
40.(The n9m answers): In our case the m2 knows that the m5n is 753 1’9 0P XY, he isn’t

established/familiar about it, and he doesn’t know how much the is worth, therefore he
doesn’t trust him on this.

Step 16: nonw

19933 1Y 02P1 NIYY MY N2319NI
41.(The N9 asks): mb9 mbn nranny, the same way that the trusts the mbn that it’s not in his

. Why doesn’t the trust the mb regarding how much it was worth, especially

since n’a o*p4, the MY is sure about how much the yown is

Step 17: v
09 10N Ny

42.(The x5 answers): 09 ydnn Ny, ‘he’, the , 1S not trusted (anymore) by ‘him’, the mbn.
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Step 18: nHnw
101599 199 1190010 XY D191 NIW INIY DI9NRY 0D 11930197 DY NIW INIY

43.(Asks the N91)): Naw y, and what’s the , MY 1YY e MY, that the borrower is
willing to trust the . 99 199 9N N9 NIV »NmY, and what’s the difference (why

is it) why the lender won’t trust the borrower.

Stepl9: vn
$ET7 BrTiim TeT) oI DA 0P L MY BT Bt TRt s 09ma DA 0P oY

44.(Answers the xam»): There is a fundamental difference in the attitudes of the mb»n and mb to one
another. mbna nva 0»pn MY, regarding the lender, the fulfills [applies] the pyos of
nann oY mn, “the perfection of the “straight” will lead them”, meaning, because the mbn is
9w, (straight) honest and trustworthy 7 made him successful. Therefore, the mb trusts the

wealthier

45.However, regarding the mb, the IS ©»pn, he applies in him the mvs of ©Y1Ma
01vs”, “the crookedness of the traitors will ruin (plunder) them”’, meaning, because the m> has
been dishonest »+ has made him poor. Therefore, the mbn doesn’t trust the poor m> about how

much the yown is worth.
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Introduction

The mwn says: 7yawsy Ny 89 w7, if the 9w pays and doesn’t swear he is nnp the H95. The
N) brings a story where a 9mw was 2% to pay and didn’t. As a result the y>7, judge, confiscated
the amw’s property and gave it to the mpan. The process of 71 nva confiscating someone’s property
is called a »»mw (literally, 1w means an “evaluation”, 7772 evaluates the property before taking it).
The N1 goes on to discuss if 1. Is a 8w considered like the 9w actually paid? 2. Once y71 a2
makes a 8w, can it be reversed with the item that 7772 confiscated being returned?

Step 1: x99
297 DYNPY RN NN NN NIYT? XD 199 99N 9939 %Y 4D 1’9 91N 193N D23 999 TIPONT N9 NIND
NOY .N23%99 NIITOND DN AN 39 JIN .ODW RY .09Y DT NN RIMYIVWD NIYT XY 95 1Y 919N 119N
<0999 NITON NITD) 10229995 9999 2990 11NI 29 AN . NPINY 2999 NINYWIN

1. (The no»v begins with a story): NynN, there was a man, who gave »995,

(note: »»wvA translates this o1, noserings) to be watched by his * . The pan returned

and said, “____5___ an, give me back my earrings”, to which the 79) replied, NY
NN, [don’tknow T put them”. They came before (the 77aof) ____ s who

gave the following poa: “ Non SNV NY 95 | anytime a 1mv says “T don’t
(what happened to the )v1»9) it is considered to be negligence”. Therefore * @%%w |, you must
go and the mpan forthe o,

. a»w Ny, the 1pay v didn’t  for the »995.

. N a9 9N, R’ Nachman , 7193519 N19)7ANY NN,
and seized (took) the Tpay’s , to give to the
Tpon in exchange for his earrings.

. MPINY 995 oY, in the , the

found, and they had become more expensive.**

. PN /9 N DY N1 NN »949, the T2y must return the »9>5 to their
owner (the ) and he will return the the xmax to its original owner, the

** The »92> became more valuable than the x79x. Note: The wp in X912 x22 descripes an

average house as being 4x4 mmwx and a mansion as being 10x10 mmx.
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Step 2: novp
17yawrh nYY N9 BYW” 199 19N AN TPPOND 19299) 11903 297 DD NI 1IN NI NN

6. N34 9N MR XN MN, | was before 24, and we were learning 749, S0 |

said (asked) to him, « v’ 7?7? meaning, our Mmwn says that

if the 9w pays and doesn’t swear, he is )P the )v17>9 and any extra payments that come from

it. Here too, yony 1 forced the ymwto  for the yv129 and he should therefore be allowed to
keep the »9>5? (Even though now they became more expensive and are worth more than what he
paid, just like a 9w that aquires the 595)?
Step 3: y'n
N7 52D NINION NIN ,NI*T 23D HINIVNR XD DNN NPV NN 0D HTDN NI4T T3y 99 0D 9TDN NI

. (xa219 continues): »9 9908 X9, N3 17 didn’t me.
. (Na9 answers his own question): 9 940N X947 1ay 929w, it was good (correct) that 1M

didn’t me”. NYLv *N»), what’s the because, onn, IN OUr NIYN, NY

N7 a9 NPNIVN, the 9w paid immedietly and didn’t trouble (bother) the Tpan to take him to

ma. Therefore, as soon as the 9w pays he fully agquires the p7229. But * , here in
this case, X371 *ab 7'n9VN, the v troubled the Tpan to take him to y> . Therefore the

7357 of our mywmthat: ‘the owner is 2y7m the pr220to the 4992 when he pays’, doesn’t apply.

From this a*9v1 ¥5pw we learn a vy2n (something new) about the p7of our mywn: A
1w that pays for the p7220 only gets the extras like 595and 747 74 when he offers to pay
for the p7229 on his own. However, if the #2290 is forced to take him to 473, the v
does not acquire the extra payments!

Step 4: nHNY (nrIN9)

The x4 asks a X*w{ on what yani 25 did and then goes on a tangent about some general mavn
about NmY’s.

1990 NDIYT )AN3 29 92DT NIMNY
9. (The &9 asks): “x9mmY, do you mean to , that yan3 24 thinks/holds that a *

be returned?” Is this why yony 1 said » 9 NITON NYTMY, 0395 T"?
(This is actually a 75~xwthat will be discussed: When 772 seizes property from a /712 to pay his

main, his debts, to the 7159, is this settlement permanent? Or, do we allow the /75 to redeem his
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property back when he [eventually] gets the money? (This would be like

mortgaging a property in Monopoly to get cash and then buying it back later on.)

Step 5: 20 (AonT)

NIPIYN 9990 NN NPT DD MYV NNIWYT OND IINY
10. (The x93 answers): onn v, there, regarding the case of the »a>, it was different than a

regular 8w because the xnw was myva, by . NPV 2923 MA NP1, because the
* were there from the beginning. Since the »a5 were still in the nywA of the A, it’s as if

they were still in the mw4 of the owner. Therefore yon3 27 had “no right” to take away the NTI9N.

(»7w9explains: 1y 37 0nly took the a79x since he thought the »925were lost forever and the
2w would never pay. Had he known that the »925were around he would have never have taken
the ~max. For this reason he pzpo’d that the v goes back. However, when 771 takes
property in a v because the 75 doesn 't have money and can’t pay, it is like a 771op7, a sale,
& it never goes back).

The x4 brings 2 mvrw/opinions regarding if a xmw is returned:
Step 6: x99

NV NS 10290 1Y 910 NIIWY IPT9D) S9N
11.(The 1%t norw): ) says: A N, (evaluation) a repossession that 772

takes from a m?Y and gives to the mbn when he can’t pay his debts are 490,

for up to XY sn9 Yor9N, # months.

Step 7: XM

09999 970 RIMIY 29 N922D) ,NIN NYTI0IN NIN : 99N I9N)
12. (The x93 brings another »4max4 9877/ opinion about what the na5n of NW IS in XY1913): 990N

said, “I’m from * , and I hold (the opinion of 79/ is) that a * IS @99y 910, it S

forever.

Step 8: xypon
S 2 D DY 9aNIY DIVN BIYY 99D NIIYW XNIDDY
13. (The x4 concludes): The na%n is that a * goes back * , forever, mxiv own,

because it says in the , “Cam mw you should do what is “straight” and good”,

meaning, do what is right even though it is beyond the exact letter of the law.
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Since the A75» is only entitled to money, and he knows that
the m5is being forced into paying back with land, the 2150
doesn’t expect to actually keep the land and ke isn’t A9 it
fully. Therefore, once the 75 gets the money, the 715

should do what is 9&»and 2 and return the amw to him. 4
L

The x93 now discusses 5 mavn related to xmw’s.

Step 9: (v 1# NN
LD SPONYT NI NN Q21 XD DY 13999N 02907 20 H¥ad H1nw) 10N HINY 2N Yyad 1Y 1w XVIWS

14.(The case): nvOw9, it’s , 1N Yyay nvvmvw , if 771 [evaluated and] seized property from
amy, a ,topaybackhis____ n__ 4, (the m5n). yx Y, and thenthe _ n (the 1%
2N Yya) went, N7 20 Yyad vy, and had it evaluated and seized by hisown amn __ a.

15.(The navn): 79 y»amx, we _ to the 2" mbn/an Yya (who now has the property), nx 451y &Y,
you are no better, x9am, fromthe  (meaning, the 1% mbn/an Sya), 7239 mnNT, whom you
are from. Meaning, the same way that

the 15t mYn/23n Yya needs to return the x»IW once

.‘F
the mb comes up with the money (because of the \.
oo of ) mwy). So too, the 2" &“ %

NE #1300 vy A _:>
2 (who has it now), must return it to ﬂ@ #23N 5

the original m% when he gets the money (because

71719399 SPANT NI NN TV NS
of the of 2:30m wn mwm). =M =i i =

»

Step 10: (xanomy 2# NaYN
SNNI IPHTT RNYIN INDY , NHINI RYINT RNYIN NPV 330 INT) ,HINNA NN, RNIIN ,NIat

16. (The case): [If 7772 seized property from a mb to pay back his 2n, and then the 2yn Sya (the mbn)
went and did one of the following:] nsas, if he it, 89N, or if he died and it to his

sons, or if a », he gave it away as a present.

17.(The nabn): If the mbn did any of these we say that, »»n »n, certainly these 3 cases, ”

from the beginning, 7sns + NN, they only “went down”/accepted these with the ny-,

the intent, to keep the land, and not x4 xny7N, that the mb> can take it back when he comes up
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with the money. Therefore, since they only accepted the land thinking that it is completely and

permanently theirs, in all of these cases the ay9n does not have to be returned to the 5.

e 720

-
w

Emn
o a 2N Yya

NRYIN

ﬁ MINNI NN pgganey
mn?

Step 11: (xvmsmy 34 NaYN

21090 N9 N0 NPT INYN 29933 Y¥a D)) NIDIN) L DYNT DN YW IN NIYDIN) AUNY 1Y Y
299199910 R

18. (The case): If 772 evaluated and seized land for a 2yn owed to an * , and then xa»o»N, she

got (and now her husband owns all of her possesions). Or, NWNT N3 MY, if 772

seized property from a woman, * , and then she got married, N5, and then, in both of

these cases the woman

19. (The nabn): ywwN *0933 bya, a husband regarding the of his wife who died, »n npy, is
considered to be like a .11 N, (as we learnt before regarding maax, if the 2yn bya
______it) we don’t return property that the husband “inherted” from his late wife to the m> who
wants to redeem the xmw. 799 1999471 X, and we don’t return property to a husband when he

comes to redeem his late wife’s 8w (since it occurred before they were married).
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Step 12: noNA

. MY v
When a woman gets married her husband acquires everything that she owns. If a woman wants, she
can hold onto her own possesions by writing in her hans that they are 53 >923. The na5n of 1on »093
is that the actual items or property belong to the woman (the y4%) but her husband receives any profits
(m929) that they make. Full control of the »5m s return to the woman if her husband dies or they
divorce. If she dies the »%5n »93) fully belong to her husband.

MHMPYD 19919 NN
As we’ve been discussing, if someone owes money, the 23 Y¥a can take land instead. If someone sells

their land after they already owe money, the 2yn bya is allowed to take it away from the mmpb, the
buyer. Similarly, if someone sells land to two different people, the one who bought it first can take
it away from the 2nd np5.

DIMPIN 1290 NONWD Dyan NN NP NI NN Y932 HIINY DYND PN RYWIND :NIIN 93 YD) 339 91INT

20. (The n49m) explains): N3%n 92 a4 said, in xeN (When P70 went into M) in Xwr) they

were ypmn, that an * that her »5m »99) to someone else (MEANING: that the

n15, the buyer, will own the )77, instead of her, IE her husband dies or they divorce. But, while
they are married the husband continues to get the 177929) in the lifetime of her . Y, and
then she , her husband can take them away from the mmpY, the

21.(The nx4): From here we see that a 5y is considered to be like a ___ 5regarding his wife’s
property. Therefore, the husband can say to the nz»> (who bought the 5% sp2s from his wife), “I'm

considered to be the first buyer on this property (since | got married before you bought it), and |

have the rights to take it back”.
22.S0 too in regards to a a1, the husband is considered to be like a N5, a
buyer, 27770 X5, the husband doesn’t
need to return property his wife (who
died) received as a o, 1297709 X2)
715, property taken from his wife as a
~mw, does not have to be returned to

him.

(#1 npYY)
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Step 13: (xam) 4# N9N

IND 920 D910 XY VANRT IND . DT XY TN I0) D970 AN 10 XI%29) NON 29 12 33099 92903 919N D2aIN
DINYI DAINT INDY NI NOTYM 33931 XY 920 D970 INT INIY DN DIWOIT NOYH NNT ,NOD NOYUM 3393t
L2AINT NID NOYDD NANM NITY NN NY)

23.(The case): If the mb comes on his own and offers to pay his 2w, his
______,with his ypap, his land. (Here, 4”a didn’t come and force
him to pay with his land.)
24.(The navn): na vy, it’s a between  and . 99N N, One says
* , the land is returned to him (like the xmw of 772). NY 9N _ 9y, and one says
that the land does not have to be to him.

25. (The x99 explains): 9nx4 )8, the who 1910 N9, 929 he thinks/holds, that sxn

NN »3%at , this was a valid sale (the ypp in exchange for the 21n). xny1m 8N4

792N , because the mb offered to pay itonhisown. ___ N __ 4y, the opinion
that holds the ypap must be returned, 9av, he , NID NoYym 2»at XY, this was not a valid
_UNRDTY RN RS o0y 1227 sN the only reason that the my> offered to pay his land on
his was 2 nnnn, because of embarrassment . Therefore, the mywof _ muwm

2w applies, and the xowmust be

Step 14: (yrvn/nonw) #5 Navn
109 991 9N N .97 1291 191NN 124Y 9N AN .NTD NNITIN NIV 2919 9N H29 19999 TN 513NN
:NDTIIN 1)

26. (The x99 asks a nyxw): After 771 makes a xmw on land and gives it to the mbn, nnoxn, from
__, does the 2yn bya fully acquire it so that he’s allowed to start, eating (>>on) its _~ ?

27.(The 89 brings a 3 way nmynn regarding this y249): 71349 holds, 719 Xno99x NV) *an, from the
moment the N 7w from 772 reaches his , the mbn is allowed to eat the md9 of
the mY’s field.

28.»an holds, 15 192t »1InNa 14y, as soon as the sign the xn>77x the IS

allowed to eat from the , even though the xn577x 9Vw hasn’t reached his hands yet.
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29. 8349 holds, Xxnt9ax 2 w*Hw »an, the MY must wait even after the N reaches his hand

until after the days of “calling out” the land (to auction it to the highest bidder) are completed.

;

L. O b
NI NOTION )

The N»W Process

If a m> owes money and doesn’t pay for 30 days past being due, the
NN PT | MmO/ dya then takes him to p7 m0a. 772 typically grants the m> up
to 90 more days to pay.

If the mb5 continues to default on his 2y past the 90 days, T ma
writes a Xno>7TN qow. This qow grants permission to the 2yn bya to
collect the debt from any property owned by the mb.

oV
NPOHYTIN

If the 230 bya finds land to collect from, T na first makes a xmv, an

NV evaluation of what the field is worth.

After 7 m>2 makes a nmw they still want to make sure that the mb is
getting its complete value. Therefore 772 makes a nyon: They
announce that the land is being auctioned off for 30 days. Once buyers
come and make offers we know how much the land is really worth.
After the 30 days are up, y7 n>a gives the land to 2yn bya as payment.
(If the 230 doesn’t equal the value of the land, Y7 m>a will sell it in the
auction)

ntI9n

3% MOV
NPT9ON
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